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EMRS PGT Practice Set  
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Q2.

 
 
Q3.

 
 
Q4.

 
 
Q5.

 
 
Q6.

 
 
Q7.

 
 

Q8.

 
 
Q9.
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Q12.
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Q13.

 
 
Q14. If 13∆3@19 = 20, 12∆7@74 = 10 and 12∆5@46 
= 14, then �ind the value of 16∆2@4 = ?

 
 
Q15.

 
 
Q16.

 
 
Q17.

 
 
Q18. Statement: 

Conclusions  

 
 

Q19.

 
 
Q20. Pointing to a woman, a man said, “The sister of 
her mother’s husband is my aunt’’ How is he related to 

Directions (21-23):

L is the only sister of K. I is the only son of G’s uncle. H 
and J are the daughters of the brother of I’s father. 
Q21. 

 
 
Q22.

 
 
Q23.

 
 
Q24.

 
 
Q25. If ‘A’ stands for ‘x’, B stands for ‘÷’, ‘C’ stands for 
‘+’, ‘D’ stands for ‘–’, then what is the value of

–
–
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Q26. ∷

 
 
Q27.

 
 
Q28.

 
 
Q29.

 
 
Q30.

 
 
Q31.

 
 
Q32.

 
 

Q33.

 
 
Q34.

 
 
Q35.

 
 
Q36.

Statement 1:

Statement 2:

Statement 3:

Options: 
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Q37.

 
 
Q38.

 
 
Q39.

 
 
Q40.

 
 
Q41.

 
 
Q42.

 
 

Q43.

 
 
Q44.

 
 
Q45.

 
 
Q46.

 
 
Q47. – –

(a) improves children’s engagement and motivation. 
(b) hampers children’s ability to be self –

(d) hampers children’s creativity.  
 

 



             

5 

     

Q48.

 
 
Q49.

 
 
Q50.

िनदश:(51-55) दए गए ग ाशं को पढ़कर िन िलिखत  के 
उ र दीिजए। 

- 

- 

- 
 ैह ातरक नम ोक ेनीप याच दाब के नाकथ

- 
- 

- 
- 

 ाताम ।ैह ईग ईाज ले केपुच - िप
- 

- - 

ीलमि ीदाज़आ !साहतिइ ाबलं ाक  के शेद ोत
एग ोह ेड़कटु आदमी जानवर बन गया

- 

- डाले

 
 
Q51.  

 
 
Q52.

धन का अभाव 

 
 
Q53.

- 
- 

 
 
Q54. ‘‘
िजतना डाक -  ैह र

सरल 

साधारण  
 
Q55.

- 
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Q56. ‘ - 

 
 

 
Q57. ‘

 
 

 
 
Q58. ‘ - 

गंतम  
यकायक 
अचानक 
सहसा  

 
Q59.
है

घाट-घाट का पानी पीना 
 

 
 
Q60. - 
( -फेर होना 
(
(
( अपने-

Direction (61-65): Read the passage carefully and 
choose the best answer to each question out of the 
four alternatives. 

Finally, this debate is not for Delhi alone. It’s time that 

 
Q61. 

 
Q62. 
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Q63. 

 
Q64. 

 
Q65. 

 
Q66. 

 
Q67. 

Q68. 
REQUISITE 

 
Q69. 

 Zenith 

 
Q70. 
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Solutions 
 
S1. Ans.(a)
Sol.

 
 
S2. Ans.(a)
Sol.

 
 
S3. Ans.(c)
Sol.

 
 
S4. Ans.(a)
Sol.

 
 

S5. Ans.(a)
Sol.

 
 
S6. Ans.(a)
Sol.

 
 
S7. Ans.(b)
Sol.

 
 
S8. Ans.(a)
Sol.

 
 
S9. Ans.(d)
Sol.
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S10. Ans.(a)
Sol.

 
 
S11. Ans.(d)
Sol.

 
 
S12. Ans.(b)
Sol.  
 
S13. Ans.(b)
Sol.  
 
S14. Ans.(c)
Sol. –

–
–  

 
S15. Ans.(a)
Sol.  
 
S16. Ans.(b)
Sol.  
 
S17. Ans.(a)
Sol.

 
 
S18. Ans.(b)
Sol.

 
 

S19. Ans.(a)
Sol.

 
 
S20. Ans.(d)
Sol.

 
 
S21. Ans.(c)
Sol.

 
 
S22. Ans.(a) 
 
S23. Ans.(b) 
 
S24. Ans.(d)
Sol. Except ‘D’ others are capital of union territory 

 
 
S25. Ans.(c)
Sol.
⇒ –

 
 
S26. Ans.(b)
Sol.

 
 
S27. Ans.(a)
Sol.

 
 
S28. Ans.(c)
Sol.
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S29. Ans.(c)
Sol.

 
 
S30. Ans.(b)
Sol.  
 
S31. Ans.(a)
Sol.

 
 
S32. Ans.(a)
Sol.

 
 
S33. Ans.(a)
Sol.

 
 

 

S34. Ans.(d)
Sol.

 
 
S35. Ans.(b)
Sol.

 
 
S36. Ans.(c)
Sol.

 
 
S37. Ans.(d)
Sol.

 
 
S38. Ans.(b)
Sol.
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S39. Ans.(c)
Sol.

 
 
S40. Ans.(b)
Sol.

 
 
S41.
Sol.

 
 
S42. Ans.(c)
Sol.

 
 
S43. Ans.(d)
Sol.

 
 
S44. Ans.(d)
Sol.

 
 

S45. Ans. (a) 
Sol.

 
 
S46. Ans. (c) 
Sol.

 
 
S47. Ans. (a) 
Sol.
learning improves children’s engagement and 

 
 
S48. Ans. (c) 
Sol.

 
 
S49. Ans. (a) 
Sol.

the ‘wider but shorter’ glass, according to Jean Piaget 

 
 
S50. Ans. (c) 
Sol.

development. According to Piaget’s theory, there are 

 
 
S51. Ans.(b)
Sol.
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S52. Ans.(d)
Sol.

त िमला था। 
 
S53. Ans.(d)
Sol.

-  
 
S54. Ans.(c)
Sol.

।ैह ायग  
 
S55. Ans.(c)
Sol.

।ैह ायग ायातब ेम  
 
S56. Ans. (a)
Sol. ‘  
 
S57. Ans. (a)
Sol. ‘

  
 
S58. Ans. (a) 
Sol. ‘ - हाथी। 
 
S59. Ans. (d) 
Sol. ‘ -

 
 
S60. Ans. (c) 
Sol. ‘ - 

  
 
S61. Ans.(c)
Sol.

 
 
S62. Ans.(b)
Sol.

early says that”Critics argue that it is �inancially 
 

 

S63. Ans.(b)
Sol.

 
 
S64. Ans.(a)
Sol.

 
 
S65. Ans.(d)
Sol.  
 
S66. Ans.(b)
Sol.

 
 
S67. Ans.(b)
Sol. Use ‘a’ before ‘lot of’. A lot of or lots of are the 

 
 
S68. Ans. (d) 
Sol.
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S69. Ans.(a)
Sol.

 

S70. Ans.(c)
Sol.

 


